


Part—I (Botany)
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. What is protovirus ? e ey | . ' S 1 e
wifi-eizam & ¢
Give an example of a plant where the fruit is not produced from ovary. : 1

el B Twizae il W T R o[ R 7

“What is meant by biofortification ? : G Gre 1
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Fhe enzyme used to break the ecllular wall of bacteria is ______._t e _ : 1

' @ﬁﬁmmﬁf@wwwwiﬂsﬂ@ﬁsm

: Do eukaryotic cells have-restrlcuon endonuclease ‘? Justlfy your answer. . | 2
TR (A WW@W&W‘@%@N@W ? 5T 3|
Or /9931 o

Define somatic hybr1d1zat10n Give an example of a plant that is produced from somdttc
hybr1d1zanon : :

' Wﬂ\w%ﬂ\w%ﬂrmﬁarmwwwwuaﬁa@f@mwctﬁm

: What is. mycorrh1za ? How does ithelp as a blofert1llzer Lai s e _ 2
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' “M1crobes can be used asa souree of energy” Justlfy ' e 2 _'
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. .Suggest any fwo techmqucs Wl’llCll can help in early detectmn of bactena/v1rus mfectlon

much before the symptoms appear in the body. _ i 2
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Why do mternode segmcnt of a sugareane fails to propdeate vegetatrvely even when .
they are in contact with damp soil ? - - : 2
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What do you'mean by parthenocarpy ? Give an example of pdrthenocarprc fru1t
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What are transgenic plants ? Give e'xamples_; e : 2o
aﬂtmﬁﬁmﬁs Wﬁfﬁmi
Or/ W%’J?I‘ i

 What is meant by homeostasis ?.

- AT g o e ¢

Discuss briefly the eXperiment of Miller on chemical origin of life. o - e
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- “Life has orlgmated in sea water Justlfy the statement with example
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Defme Smgle Cell Protein (SCP) Name some common mlcrobes as SCP producers
0 e 1+2 3

Or/WW

~ State the prmcrple of Gel Electrophore51s Mentmn two appllcatlons of this tcchno]o gy
~ in Biotechnology. b e o
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Give the scientific names mentlonmg their famllles of rhree popular and nnportant tim-

ber yielding plants of Assam. U 3

WWWWCWW?‘%W ﬁ%ﬁam@ﬂme ﬁﬁmﬁﬁem@m

'__ﬂmfa‘em
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Culture medlum can be referred to as a highly enriched laboratory soil”. Justify the
statement. ]
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Explain the procedure of Recomblnant DNA technology e 225
'ﬁaﬁm%ﬁmmﬂ &WWWWE |

Or/Wﬁ‘FlT

Write the prmc1ple of PCR techmque Menti on the role of PCR in Molecular diagnosm

1+4=5

| }l_pcmqr—meoﬁ ewmwmlwwﬂamewmw_
10| :

Wlth the help of labelled sketches descrlbe the procese of m1crosporogene31s ina
' ang1osperm1c plant State the functlon of tapetum - - 3+1+1=5 -
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. What is plant breedmg ? Ment1on the role of plant breedlng in modem agnculture 0
- - _ | | 1+4 -5
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(a) Sericogenic ineects bel‘ong to the order ___

Part—II (Zoology)
(fﬁwww effafes=)

Fill in the blanks:_(any two) ' : : i : ' et Ax2=2 :

A SR o - (T 7

@B F @ Tsfq Twefol

(b) C_essation of menstrual cycle in female is called_ '

(¢) Genetic dlsorder due to presence of add1t1onal X—chromosome is . syndrome
aft@l?*lvﬂlﬁ@ X W‘«Faﬁ— matf@ﬁﬁﬁm
~ Answer any two ' : . : P e - =gl

R 751 e v

(@) How many polypeptides e're in human insulin ?

Wﬁgﬁr@i‘@ﬁﬂﬁmnﬁﬁew ?

(b) Name the ammo acld wh1ch is failed to convert to tyroqme in phenylketonur]a

Wﬁ@ﬁm— Rt _eﬁm .a‘f&wi‘ﬁa’fiqm TR R o Bt %Rn_l

(c) Gwe an example of i invasive weed spe01es that lhreatens our natwe spec1es :
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.erte answers of any four of the followmg - o - i _2-x‘4¥8

.(a) How unplantatlon of human embry_o occurs in the mother uterus ? -

P o =l (O T AP 2

seEEL L e = S O e



(b)° What do you understand by reproductive health ? AT i : )
: : i 6. How Hershey and Chase proved that DNA is the genetic material ? 3

?gff?z“ SIE (58T (TS 2l FfRf%er @ DNA 251 i «mief|

ol ATy e o g e

" (¢) How sex is determined in man ?

iz R ey B iR = Or / w4l

What is DNA finger printing ? Mention its applications. . __ 2+1=3

: (d) Wﬁy hn RNA is required to undergo splicing ? -
_ A _ : DNA fieaiis 215% o 2 2319 2tampiz S <1

‘hn RNA © e f sl 2

(e) What is the causative organism of amoebiasis ? State the symptoms of the disease. Qinﬁly shgite e conserye DU 7 ' : e
- ' . ' : ' . IRz Ew“ﬁafﬁrﬂ" iSkd ?
e o 7 afiRmRE, @i w7 @2 @i PR ) Sl bl
St e | = e Or / g
() - What are the different silkworms cultured. commercially in Assam ? il ; T : ;
- What is auto-immunity ? Name an auto-immune disease. . 2+41=3

WW@%&W%%@W@W%WW@? | _ _
_ PR F 2 @iy RF-SPREIS! FI  foran)

4. State thc dlffercnce bclween (any two) ' o el D . : : . : _ . s
| e 8.  What is genetic code ? State the princi ' ‘ ic code S
?f?f?‘?ﬂ @ﬂ S : g ode ate the principal features of genetlc chq. 2+3 _5.
. _m”” e : = _ WﬂW%?WﬂW&WW@WW|
- (a) Genolype and phcnotypc (e o atE : : S ok L & o
T@ﬁ?ﬁﬁwﬁﬂ%ﬁvf - - e ' L - - |
. o : ot . | . ‘What is ecological pyramid ? Explam d1ﬂcrcnt 1ypcs Of p}ramlds w1th necessary'f
(b Benlgn tumor and mahgnam tumor SasiE Ehel e it diagrams. o 243=5
mﬁﬂﬁﬂﬁwmﬁmm W e R WWW%?%@W%WWWWWWWI
(0 -_S_permalo_gen'c's_is' a_n.d bogenesis . ol ; e fist e _ __ 9 'DISCUSS the immune systems of the body. . : .. ' = e " 5
| ST %ﬁrjm:r' P o A e v RS OPKER) O S | _ : | |
) 'Predatlsm and parasmsm Sy _. o e o e o = o ._ " Or / w94
: ﬁa—f?ﬁ:—\ﬂ‘ e Wﬁq{ﬁ | | e . e P S e : Write the names of the dlfferent spemes causmg maiana in man. Descrlbe the life cyclc_ .
_ - - e e kT o i ' of malarlal parasite in brief. - . 2+3=5
5 Draw a neat ldbe]ed diagram of double heiical'struéture of a DNA molecule. -3 B : ' -
: g ¥ ma e e S Wmﬁm@ﬂqﬁaﬁﬁﬁwﬁmmwm!w@m%mﬁaﬁw-z--
| DNAaﬁﬁ%Waﬁvfﬁm%%@ﬁﬁWa s . FWWWI .
_ Draw a rrcat labcled dlagram of Cross. scctu)n of sem1mferous ubnle™ " 3 L
' ‘\‘BtEPGTM aﬁmﬂq (=7 <l gL fofee o Wi
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. I. Answer the following questions: e ilxB=g. & W e . o  or/wwm S _ : |
e W Twq i o e . : i | i it e & ~ Find the equivalent resistance between A and D. s e _' . i3 T
(@) Give the dimensions of Tesla. - . : . n ] AW D= 3res TRReT frefar W_' .
(Gye Wl | | e - | . | o
(b) Show that H@ber = Volt x Second
MYSN (F (9= ©F x (ZBY

(¢} State Arnpere_’s circuital law. .. i o S e S - -

G R RIEE aﬁ@_:raa'vmmt%tan

(d) Why are infrared waves called heat waves ? s g e ol Lo _What do you mcan by 5pecnﬁc resistance of a conductor ? What is its STiwits
- _-@rs:taﬁ%-"a\aaft%aﬁa—a\a martv g el . m—z_
e - et e aﬁ@rﬁa@tﬁfa’w@taqﬁmﬁiw WSI&T@*%‘?' '
(e) State Snell s law of reﬁactton of llght e Sl ] o : o st
_cwaﬁaaammﬁah M o s R i i - | { - .
T ' e . il W hat s potent101ncter ? Would you prefer a Voltmeter or a potcntlometer to measure:
() Complete the nuclear reaction — . e | S = o thelemf of a battery ? e )

ﬁ@ﬁﬂaﬁmwwdw—j_ - g e e WW%?@%@W?W@%WW@W@@W%@WQ
JHe'+ X', 9 [ . o . : L e

Explaln how Lenz’s law establishes the law of conservat:lon of ¢ energy ._ '_ '- - 2

@aaﬁ%ma‘@wﬁwﬁhamm i
(g -Wnte down the truth table of NAND gate.

NAND gate—ﬁ BIST] iiéﬁ‘l‘ﬂﬂ T%l?ﬁ 1

) - Give one use of solar ccll

GRS aﬁwa@zaawn .

" Describe in brief the concept of dtsplacement current : _' e e o 2 o

;maﬁwwwza%mt

or/war

TR ﬁ?ﬁ_‘i ew’a Ti—c“ta‘t GRRGER T de ﬁw

| How docs a charge g oscxllatmg at cettam Erequency produce electromagnetlc wavcs .

- | e State Coulomb S law of elcctt‘ostattcs EXpress it in Vector fonn | | I+1=2.

m\s mm\ea vgowq a@tﬁt %‘QH | 3?11?5 (O3 Fof© e 59 |

Or/ Wﬂf?n' o G e o il ; 7 -State two 1mportant dtfferences bctween mterference and dtffractlon . re

' 'What is electrtc polarlsatlon vector ? Define the electrlc susccpttblhtyt e :'_13-I~1i2 = S JISAIEE%MG{ i W‘ = ?163 557 &liﬂﬂ "W%P—J %Pﬁt -
i Wﬁ%wm—a cezaavmaamacaw - . . 0"/@*”3’ . -
N c L e S Two lensea of powers +5D and 3D are m contact Fmd the focal length of thc,__
o State Ohm s law of c’urrent electnclty Deﬁne One Ohm re51stance ' 1+1=2 o . 0 o combmatton S gl

| '.:"+5DW$ ~3Dasa—1aw W’t”"*’l“l/—wﬁ"ai ﬁﬁawmﬁcfa asan

ﬁmaswmw—q%w q @tﬂmﬁfwﬁmeﬁaﬁa“a\aaaﬁeta?
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e | __ 3
oo fwen Rpfes ww A w1 f
 [fm wap:ﬁ,- A=60°]'.
Explam mass defect and bmdmg energy - - : ' D 3 :
- __Wﬁmwsﬁqﬁm%wamﬂmﬂ
Or/ W’Wf

-

i What is the bas1c dlfference between amphtude modulatlon and frequency modulation ?

B T % TS R :riw im' vITQI%mT‘:t i3 ﬁﬁm R W%st CFaS

Or/WQﬁT

Find the Value of angle of mmlmum devxatlon of a prlsm [G1ven ,u \/— A =-60°]. :

IiIf m (MN ) 14 00307, calculate the bmdmg energy of the mtrogen nucleus in _
"MeV : fo : e w3 '
m sl 008665u m, =0- 00548u m, =1 00727u | =

_' ('4N) 14-00307 u T miﬁ’cw ﬁ@@sﬂm w% MeVs 31d 311

. _f lu—-l 66><10'27kg

| Wnat is demodulanon‘? Why is satelhte commumcatlon necessary for TV signals 5
. :What is a nibble ? e e

- Iw\;mw ﬁi? ww‘ﬁﬁ W‘aﬁ s‘i@ ﬁw @ﬂﬁb‘ﬁ W“W 'a‘if? ﬁ??lﬂ ﬁ” -

Or/W

Dlscuss the role of 1onosphere in radlo-wave commumcatlon e : 1+2=3

_‘@ma’ﬁﬁm’seﬁmwwwu

An mductor of self mductance L SOmH s connected in series with a non mductwe_
_ res1stor of resistance R =1042. A source of e. m. f. & (IOOSmSOJa‘) Volt is connected; '
Jn- the. c1rcu1t I‘md the L e . M

G reactance of the coll

e (n) nnpedance of the cn‘cmt

- '(xzz) ms voltage drop across the mductor o -

1+1|13.*

22:

23

L= 50mH <5 SN S @5 R=1042 @5 €= (10051:;1.50;;;)' v RgresieRs e
ICS IO A (2R IO (FaS e |
(i) Pea dfecEy (rcactance)
(ii) ﬂj} e{fsai« (1mpedance) . :
(iii) WWQWWW@‘&IWI
Or./ G :
l“xplam brleﬂy with the help of a labelled dtagram thc bas1c pnnc1ple of the workmg

_ of an a.c. generator. 7 . 3+2= 5
* Give two reasons for cnergy loss in an actual transformer . '

S|fFe] 2RIE TS Wb Wﬁ@lﬁﬁ%ﬁﬁ?ﬁﬁﬁﬂ@|
HATEE aﬁs*ﬁ“@w zﬁ‘rwqﬁw i

What are unpolansed and lmea1ly polarnsed l1ght Waves '? Estabhsh Brewster s law.
What is a, polaroid ? : 242+1=5

' Or Jaer
*stabllsh the followmg rclatlon e o : - '\ 5 :
E;;ﬁ_'ﬂz.“”l o _ | e _
otk g
SRS

—n

Draw a common-emltter amphﬁer circuit usmg an n-p-n trans1stor and explam the
amplifier action. Find an expression for a.c. voltage gain. 1+3+1=5 -

n-p-n @T@%mmﬁ@hﬁmaﬁmwﬁ ﬁﬁﬂwﬁwawwqﬁﬁ'__ :

WWWIL‘]% ﬁﬁ?ﬁ%ﬂm (ac voltage gam) Lﬂmﬁ@“l%ﬁ%lﬁ\‘@l .

Or /eq _ _
What is a photodtode 7 Explam 1ts workmg prmc1ple What is a solar cell 2

J43+1=5 -

vﬁ;’em’e -ﬁs-? amasm am-«??rfsnvm <11 o7 o e

ot

arPlye 0 T
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Answer the following questions : o i - 1x10=10

ool AR s frl ¢

(@

o

)

[s tﬁultiplication a binary operation on the set {0}.

ofe elfEFics {0} Aefeq eoiws bl taw alfew e

If cos ' x—sin”' x =0, write down the value of x.

W cos ' x—sin x= 0, cCo® x J ‘51‘!?1 ﬁ{Qﬁ N

If A be a square matrix of order 2 whose determinant is —, find the value of -

[A adj A)|

o aﬁAmzwaﬁWﬂmﬁW—l ocs | A (adj 4)] mmv?%mzm

_ ‘-.(d)

(e)

" What is the number 'of all poss'ible' 2 X 3 matrices with entries O or 1 ?
- xfi 2 x 3 SPRE GTEE GBI c:‘rm@mom 1 =, mamwwﬁmww\w-

@WWMW?

If4 = [@jlnxns B ]b,k]mp be two matrlces and AB [Cit]mxp» then what is thL
rclatlon among a, by and ¢y ? '

?Iﬁ A laz,r]mxm _ lbdc]nxp @T W W AB [C;'k]mxps (o8 Aijs bjk and c.ia'.cq-
S m fee | '

~ What is 'the value'.of lim f (x) if a function f is continuous at x =0 and f(0)=7 ? .

-.--.hmf( )ﬁW%ﬁ,Wfo O\SWW ]‘() 7 22

Statc whether it is true or false . “The derivative of an even function is always -

an even functl on”’

Wﬁmwﬂwwaﬁﬁwwwwr’

" GARMATH - s

(h) If @ and b are two mutually pérpendicular unit vectors, what is thé \}alue of
| (2é+3b) (4a 56) 2 | '

T 4 wb@mmaw r@*ﬁﬂ c:-m(za+3b) (42~ 5b)amaﬁmw

(i)  What is the genéral equat:itjn of a plane parallel to Z-axis.
77 S A e N e
OP

P i I : : *o - : . i - . .. I‘ "'—"'"") z .' .. . .
() Letl, m, nbe the d_lrectlon cosines of the line QP where =r and Q be any -

- pbint on OP where

00

=s. What is the co-ordinate of the mid-pomt of PQ ?

W@lmn op IR WIS T |OP

=r W% 0, OP (F4F ¢7¥e Reeled @t - -

ﬁﬁﬂ’@ 00 =, PO7 LRERS P %?&'?

2,. Let X be a non- cmpty set and P(X ) be the power set: of X. Cons1der the bmary

operanon * on P( ) defined by 4*B= AﬂB V 4, Be P(X) Show thatqu the

identity element as well as the only invertible element i in P(X ) WrL x. '. Lo

wxaﬁmﬁ@mﬂ%m P(x), Xwﬁmr“wqﬁl* P( )a\eﬂrmi‘raﬁm* '

| W A*B=ANB Y 4, Be P(X )[m@m*mwxpmwmcﬁaw'
"_E%Ttt-s Wﬁw GT]FH

e Solve the followmg equatlon forx et o _ : - . a3

-xammmﬂaﬁ

. ~1f x+1 Ehe i
__tan ( _1]+m (—x_J_.—tqn (7) :

_24T_~_M_ATH-- | &F - cénpd. -



| OR it : .6_ . .I_[‘ Xyl+y +y\./.] +x =0 .then show that
iy e

sin” (6x)+ sin”? (6«6}:): Ph
W e fl+y + pdTrx =0 o8 oot @

2
e
T

4, Answer the following questions :
; e o _ __ ; Rl

(i) 1f 4 and B are two matrices such that AB = B and BA = A, then find the value of oy

A2+ B i |

: 1. Integrate / SFei 959 e : . e ; ' : : i
ﬂﬁAmB@Tcﬁma’c,{B B 9% BA=4; C\?JI@A+B _ W* LA . 5 e .

2 3 AW @T%mm
[ ok : (x+])2(x-j"2).

(u) Show that the dlagonal elemems of a skew symmetnc matrlx are all ZEr0.

mﬂyﬁmﬁaﬂwﬁ@cﬁaﬁ'ﬁﬁwﬁﬁmﬁﬁﬁcﬁﬁﬂl e b A - o
: o e iy B _ 8. _Eyalﬁat_‘e/.\:jﬁﬁcﬁgwl

5. Prove that the function given by I (x) [x 1[ xe R is not dif'fé_:r'énti:able at k=1 - Wi - J_E‘. o x’ o
Also examme the contmulty at that pomt | . - 1 " G s 'ma&
._\wqwmw f(x flx 1[ M;;R g 1@*{@«@%7@&@1’ xﬂlﬁ?@' | o g
'W?@Wﬁl o o - o o OR / @23t
_ : : ' . ; - il : : 23 Shert 3 i e
OR/®%€ i o 19 Yiaga i .___.__CQ&

If e (ran x) jshoW that - e o LI | | _ ]
| ( . .'1) | 2 (-2. 1) 2 | ;- o & A"SWCT any. two of lhe followmg qUCStIOIlS s e
\x* + y+-xx+__y= o L Ax e
‘iﬁﬁ y (tan x) Cﬁ'g[@%ﬂ @ i : o : | ¥ o & - . '! o (a) SU]-V'?/W%IFH_@? i

(2 '-+'1) y2 +.2-x(x?.+i)j»_l-=2_.
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: : S e l:zé“y Ui ;
| Find th particulér solution of the differential equation (x+1) _
(b) . Find the: 0 .

l)dy z_y_lqﬁmﬂwm@%emmﬁmx ?eza-w
| Wﬂﬁﬂﬁq (e+1) 25 _ !
el :
ol | . int (1, ~1) of the differential equation
. - Jassi h the point (1, 1) o |
- Find 1 lution curve passing through the p prd) s B
(<) Fmd the so _
xy_;__(x+2)(y+2)
_1 ﬁ% WFEFS[ @T 9 @15'1
D= (x42) (y+2) v e v 1 (1, 1) |
. =
| 10 "_Show that.,.for any vector d,

_' (’ax'l;')' (ax_,) (axk)

R @ @aaaa‘i@,ﬁ"i@m@*'_"_-

R e 9. |

= | . :
o _._.(a_'xi) (aXJ) (axk) o
. e tor 4 which is
-. *-21 j+4k.-F1nd the vector _
3 — 2;+7k and c |
Let. a—1+4j+2k b=
—18
_perpendlcular to both 4 and b and c- d

' o d 9B B
Wa—;+4;+2kb 3= 2}+7kWC—~2l Rk

C@%ﬁ@{@ia\@a@“
W@WWWC =18 @,m@d

. " (6]
- 24T-MATH :

@f'

1] Find the co- ordmates of the foot of thc'perpendicular drawn. from origin to the plém‘e
=y +zo5=y. e - | ot

: :@ﬁﬂﬁwzx—-})--kz%ﬁZOWWWWWW@@@WF |

- 12, Let X denote the sum of the numbers ohtamed when two fair dice arc'rolled. Find the :

: Vdrlancc of X. o iy i e 4
'@1 e =Amifs 52 3R et s Qe X T, X J aﬁaﬁ el 4t
| o OR / 529!

Two cards are drawn qnnultamouqu (or succcsswcly wnhout rcplaccment) from a well -
- shuffled pack of 52 cards. F ind the mean and variance of the number of kmgs

57 ﬁmﬁsﬁrﬂmﬁﬂmﬁﬁﬁﬁﬁmﬁﬁww?ﬂ*a@ww(mm
ﬂa@ﬂnwﬁ@wwaﬂmwmmmwwmqﬁew '

ey 'If'a,..b, ¢ are real numb'cr's_a.nd S LI e o de e

to+ec c+a a+b
¢cta a+tb b+c|=0,
atb b+c e+al
prove that either g+b+c=0 or g=p=¢

AW a, b, ¢ AT A GE

lbtc c+a a+b
le+a a+b b+c|=0,
a}é'b+6'c+ag

W @ atbic=0 9 a=p=c
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~ Without ekpanding: at any stage prove that /

OR / w%dl
' e@ammmwm

'.'. i | 2
Y. be b+c_ 1. a a2
il ca c+a|=|1 b b2
: 1 ab a+b - e
' o 9 that are parallel
' ; : e ; ; :'osx+y),-2f£§3€$275_ _.
14. Tind the equation 0 of tangents.of the curve y =¢ ( | | : _ :

tothclmc A,+2y 0 v
Cx42y=0 WW @?ﬁ y COS(x+y)

q‘i@ﬁ

Show that .«

(1) 1hc l"unc‘uon j gwen by

w10

log

Qﬂ's x<2m a@fa' m{iﬁﬁjﬁ@q ﬁcfzj
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has ma)ﬂmum ai x=e.
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Iogx

| | mﬁ@wwq
—tcm (smx+cosx] x>0 (0 ﬂ/4) WW

'@-‘N@Tx eﬁ%—ﬁﬁ%l

e :

; 3.-*"3—"-%—'6_

T S L s )
( Ve (Smx+cmx) >0 is always a strictly increasing function in (0 Jr/ ) |
(x)=tan”" (sinx +cos x), e | |

T

15.  Evaluate I; '.(x+e'2"')dx by expressing it as the limit of a sum. - i 6

 CAISTEE B T BT e

J-: (x—i—eh)dx 9 3w Bfeed |

~ 16. Find Lhe-angle between the 1ine 3‘—5——':-"31: - 23 and the pIane x=2 y+z—3 Also.

find the pomt at which the hne intersects the given plane s Do
21:§ ; 6 R Wi x— 2y+z—3 BRSO R ) Cﬂqﬁq‘ﬂaﬁf:aﬁr ﬁ‘%n@@[ '
TR D1 RegeBl Fef ol ' |
OR/ 9%t

lmd the shorleqt distance and the equation of qhortcst dlstancc between the lines .'
=8 _ y+9 .99 x=455 V- 29 HZz=5 .

ARl gt 8aleT shho!

e +. . . o
x38.={169=___z > 10 R 2 315 o 8 ok 5 WEWWWT@WW
T Srear o
Pmd the area of the reglon in the lst quardant enclosed by the X-axis, the lme X —»\/_ y -
and the c1rcle xeyEadl Lo - - i 0

XS, = fy ShRL %? +y = q@mmam m—w Mﬁﬁ%@%wl

' gt OR/W |

- Fmd the area of the reglon bounded by the parabola y = 4ax and x '— 4ay
y —4ax i 4ay W@@W CWW?FT%I@T%@H! _

Ay - o e LE L e



18.

19 There are three coins. One is a two headed coin (havmg heads on both sides), another
isa blaqed coin that turns up heads 75% of the time and third is an unbiased coin. One

 24T-MATH

. Subject to

Showing the. feasﬂole reglon,_ solve graphically the following :l_._iﬁcar _pfogramlning
problem : AL ' - ;

Maximize Z=5x=-2y
Sx+6y230
9x -2y =72

y<9, xy20

axze:m cﬁacﬁ{m@ﬁrﬁfwwwﬁ%wmﬁ

@AM  Z=5x- 2y
e :5x+6y230  '
| - . 9x—-2y'=.7_2_

y$9_'%y?0

of the three coins is chosen at random and toqsed It shows head. What is the probability

- that it was the two headed com?: * 6

'Pﬁmwﬂmﬁg@ﬁﬁﬁ(wﬁ%—a}e W)ﬁ%ﬁﬂﬁﬁw i 5% TS 75%

T 26 T A PORE! e frfe =i | ETelc I oW ot foafoet f B 1o e

(ol ﬂ’m:{z@iﬁ@ﬁﬁﬁ @?ﬁﬂ@ﬁ@ﬁmﬂ?

OR/WW

il

Pr_obab'ili.ty. of solVing-_.a speclﬁc problem mdependemly by 4 and B are: é and 3
respectively. If bot‘h try to solve the problem mdependently, find the probab1hty that '

-( i) the problem is solved

(u) exactly one of them solves the problem
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